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Sec, Cosec, Cot – Exam Question Solution (C3 – Jan ’11) 
 
7. 
a) 

sec 𝑥 = −5   ⟹    cos 𝑥 = −
1

5
   ⟹     𝑥 = cos−1(−0.2) = 1.772 … 

 
Using the symmetries and period of the graph of 𝑦 = cos 𝑥: 
 

𝑥 = 2𝜋 − 1.772 … = 4.511 …    ⟹     𝒙 = 𝟏. 𝟕𝟕, 𝟒. 𝟓𝟏  𝒕𝒐 𝟐 𝒅. 𝒑. 
 
b) 
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2 sec2 𝑥 = 50 

 
𝐬𝐞𝐜𝟐 𝒙 = 𝟐𝟓 

 
c) 

sec2 𝑥 = 25   ⟹    sec 𝑥 = ±5 
 

sec 𝑥 = −5    ⟹     𝑥 = 1.77, 4.51  𝑡𝑜 2 𝑑. 𝑝. 
 

sec 𝑥 = 5   ⟹     cos 𝑥 =
1

5
    ⟹     𝑥 = 1.37, 4.91 𝑡𝑜 2 𝑑. 𝑝. 

 
𝒙 = 𝟏. 𝟑𝟕, 𝟏. 𝟕𝟕, 𝟒. 𝟓𝟏, 𝟒. 𝟗𝟏 𝒕𝒐 𝟐 𝒅. 𝒑. 


